¢ D

t -7 ’
i | ﬂ B
@L" E = )
=g f
BERLET L
%/\I?§L1
BAT: mm
0oz £ = A K
L L ¢ D
10 A 9 0 9 4 27
1 5 A 9 3 9 7 32
2 0 A 103 1 07 38
2 5 A 1 30 1 3 4 4 5
i)
DHOTEELSETETT
13 Hyww 7* 2 Bhs  KBEEL (k) 28ERL
12 KEZEOY D 2 AR 3L
11 Ak TUog 2 | 2AF v LA
10 T =7 2 [AE4SRUEE
9 [ CARAE 2 R L
8l vy —w 1y dl 2 AFVUAM HS-—ME
7 KBS F 2 A3 L
6 A= 2 [A44RUNBR
5 21 id 2 Sy A 7= M ALER
4 e A 2 Tt g
3| ATV OHAFR 2 2521 A4
2 F vk 2 38 & & = mALE
1 x x 1 e 4 TEAE
RES = wmE| # A =
58 VR EE VA
# MAAVA Y b (L1 ASHES)
%\ T
- FIW 512023—-1-4
=2 =
KXt O07VU7) oo
) = 6—25023
SEH/TIH &




